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500 pF ,Db*
5000 pF ,b"

160 pF 10 ¢
1000 pF 10 %
1000 pF 10 %,
1500 pF 500V
50 pF 10 23
300 pF 2%
15—45 pF (2502)
50 pF 250V
15—45 pF (2502)
160 pF 350V
100 pF 350V
100 pF 350V
30 pF 10 9
2—7,5 pF (2509)
2—7,5 pF (2509)
200 pF 350V
1000 pF 10 %%
1000 pF 10 9
300 pF 5%
400 pF 500V . 4°
1500 pF 500V
50 pF 10 9%
300 pF 10%
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0,01 we 230V

o) pF
1500 pF

10 %o
500V

0,05 uF ,,d*

1500 pF
1000 pF
1000 pF
30 pF
100 pF
1500 pF
450 pF
(0,026 uF
a0 pF
0,1 uF
0,025 uF
0,01 uF
0,025 uF
500 pF
0,1 uF
1500 pF
5000 pF

500 V
10 23
10 %o
2%
10 %o
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500 V
500 V
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500V
350V
300 V
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50 uF 350/385V
50 uF 350/385V
10 uF 12/15 V
10 pE 10 %o

6 pF 10 %
30 pE 10 %%
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20 kOhm Y4+'W
1 MOhm 1/10 W

20 kKOhm 1'W

50 kOhm 1/10' W
20 kOhm 1'W

30 kOhm 1'W

1 kOhm /a W
500 kOhm 1/10 W
400 Ohm 6 W
B0 kKOhm V='W
1 kOhm Y+W

1 MChm 1/10 W
h00 kOhm Y4 W
100 kOhm Y4 W
1 MOhm 1,10 W
1 kOhm Y4W

5 MOhm 1/10 W
1 MOhm /W
300 kOhm 4+ W
500 kKOhm Y4+ W
10 kOhm 1'W
500 Ohm Y4 W

1 KOhm 8 W

20 kOhm /4 W
125 Ohm 2W
HI, 33/0,1

500 kOhm log.
300 kOhm log.



